
Low Profile Model 500 Deflector Kit 95320

August 1, 2003
Lit. No. 95582

Installation Instructions

1. Place the deflector on a table or workbench and
drive the eight 5/16" x1" carriage bolts into the
holes in the deflector.  This will allow the carriage
bolts to grip in the deflector.  Make sure that all
carriage bolts are pointing the same direction.

2. Place the adjustment rod on the back side of the
deflector as shown and secure with one rod clamp
and two 5/16" external tooth lock washers and two
5/16" nuts.  Repeat this step for the other side of
the deflector.

3. Place the assembled deflector on the spreader
behind the spinner.  The carriage bolts should be
pointing toward the truck.  Secure the deflector to
the deflector plate with four 5/16" external tooth
lock washers and four 5/16" nuts.

Carriage Bolt

Baffle Adjustment 

Rod

Rod Clamp

External Tooth 

Lock Washer

Hex Nut

4. Remove the cap screws that secure the throat
clamp to the spreader frame.  Reinstall the throat
clamp with the adjustment hoop over it as shown.

5. Insert the adjustment rods into the desired holes
on the adjustment hoop and secure with the
supplied hairpin cotters.

Adjustment 

Hoop

Throat 

Clamp

Deflector Plate

Low Profile Model 500 Deflector Kit – 95320 
Part Qty Description Part  Qty Description 

95321 1 Adjustment Hoop 91959 2 3/32 x 2-1/4 Hairpin Cotter 
95323 1 Deflector 90556 8 5/16 x 1 Carriage Bolt 
95324 2 Baffle Adjustment Rod 91263 8 5/16 External Lock Washer 
68734 2 Rod Clamp 91430 8 5/16 Hex Nut 

 

Copyright © 2003 Douglas Dynamics, L.L.C.  All rights reserved. This material may not be reproduced or copied, in whole or in part, in any
printed, mechanical, electronic, film or other distribution and storage media, without written consent of the company. Authorization to photocopy
items for internal or personal use by the company’s outlets or spreader owner is granted.

The company reserves the right under its product improvement policy to change construction or design details and furnish equipment when so
altered without reference to illustrations or specifications used.  Do not exceed vehicle ratings with a spreader.  The company offers a limited
warranty for all spreaders.  See separately printed page for this important information.

Printed in U.S.A.


